fM3F4 A1 8HMT

rEhmRESE

B R B R
X % EFLAHEEY LEREER HEREEL FTHEERRER REEH B B %
A 7 1 i B=7+{+1 B)/A) %
5 S g 2 S &t 5 S H 2 S &t £ S &t L S &t
& &t 8,506| 9,781 18,287 3,375 3,387 6,762 2,722 3,513| 6,235 11 159 236] 6,174 7,059| 13,233] 72.58| 72.17| 72.36
* MGEE| (I, MESMEMMEAAL, B2METRRLET,
TH3E4A1 8T MHTEEBARE
B’ R & R
X 7 EFLRHEEY LERREH HBATREER FHEERZER REEH B OB X
A 7 1 i B=7+{+9 B/ %
5 S &t E: = &t E S & 8 S &t ) = &t £ S &t
& &t 8,506 9,781 18,287| 3,375 3,387 6,762 2,722 3,513| 6,235 75 155 230 6,172 7,055| 13,227 72.56| 72.13] 72.33

* TREER| (X, MIESMEMERAAL. F2METRRLET,



